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Nwms: Jara: Onenka:
6x° — 3x% — 2(2x° — 3x°) — 6x° 4x—Tx° = 3(3x° — Tx%) + 9x
4(7x3 — 3x3)—2x+x3 +x 2(x2— 7x2)+8x2—x—3x
2(8x — x°) + 3% + 8x7 + 3x 2(4x° + %) — 2% — dx — 4x
Sx+ 9x + 7x — 3(3x° — 2x°Y) 3(2x% + 3x%) + 2x — 2% + 2x
5%+ 6x— Tx + x° +3x° 3% — Ox? — 4y + T — 5x
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Nwms:

6x° — 3x% = 2(2x° — 3x%) — 6x°
8x° — Ox?

4(7x — 3x3)—2x+x3 +x

1753 — x

2(8x — x°) + 3x% + &% + 3x
—2x° + 1122 + 19x

Sx+9x+Tx— 3(3x3 - 2x3)
—3x° + 21x

5¢% + 6x — Tx + % + 3x°
38 + 672 —x

Jara: Orenka:

4x — x> — 3(3x3 - 7x2) + 9x
—16x° + 212 + 13x

207 — Tx%) + 8% — x— 3x
—4x* — dx

2(4x° + Tx%) — 20 — 4x — 4x
8x° + 12x° — 8x

32 + 3x3) + 2x — 20 + 2x
O + 42 + 4x

3% = 9x% — 4 + Tx® = 5x
—4x® + X — 5x
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